WILDRIDGE,

PURVEYORS OF QUALITY POLY FURNITUR

330-893-4212 « www.wildridge.com

CLASSIC MISSION SWING

ASSEMBLY INSTRUCTIONS

LCC-205

i

« Connector Block =
+(4)11/4"Screws |
P it ) - Two Each Per Side:
R v z . (4) 1/4"X2”B__ lts&

Step 1

Position the backrest (A) and the seat (B) as shown. Fasten the out-
side supports with (4) 1/4” x 2" bolts and (4) 1/4" flange nuts, 2 on
each end. Position the connector block (C) in place and attach it
to the back of the center seat support and seat rail with (4) 1 1/4"
screws as shown.

Hardware:
-(4) 1/4" x 2" Bolts
- (4) 1/4" Flange Nuts

Required Tools:
- Mallet/Non Marring Hammer
(Do not use Metal Headed Hammer)

- Cordless Drill -(4)1/4"x 3 1/2"Bolts
-1/2"and 7/16" Wrench or - (4) 1/4”Washers
Socket - (4) 1/4" Locknuts

(
(4)
(4)
(4)
(4)
-(4) 1 1/4” Screws
-(2)5/16" x 5" Eye Bolts

()

(4)

(4)

(4)

()

(4)

- #2 Square Head Screw Driver

Parts: -(2) 5/16" x 5 3/4" Eyebolts
A = (1) Backrest - (4) 5/16" Flange Nuts

B =(1) Seat - (4) 5/16" Washers

C = (1) Connector Block - (4) 5/16" Locknuts

D (1) Left Facing Armrest - (2) Swing Chains

= (1) Right Facing Armrest - (4) Connecting Links

« (1) 5/16” Flange Nut

+(1) 5/16” X 5 3/4” Eyebolt
(1) 5/16"” Washer
(1) 5/16" Locknut

«(2) 1/4” Washers
«(2) 1/4”X3 1/2” Bolts
*(2) 1/4” Locknuts

Step 2

Place the left facing armrest (D) onto the seat/backrest assembly as
shown. To fasten the armrest to the seat, thread a 1/4” washer onto
each of (2) 1/4"x3 1/2" bolts, tap the bolts through the holes and
add a 1/4” locknut to both bolts. To fasten the armrest to the back-
rest, thread (1) 5/16" flange nut onto (1) 5/16"x 5 3/4" eyebolt as far
as the thread allows, with the flange facing away from eye and feed
it through the hole on the back of the armrest and backrest, and
add (1) 5/16” washer and (1) 5/16” locknut. Repeat with the right

facing armrest (E) on the other end of the swing.
©2017



WILDRIDGE ASSEMBLY INSTRUCTIONS

PURVEYORS OF QUALITY POLY FURNITUR CLASSIC MISSION SWING Lcc_zos
330-893-4212 « www.wildridge.com

SRS = aaand

e

NERRN

o J

Your swing is now complete.

Step 3

Attach one of the swing chains to the eyebolts on the front and
the back of the armrest, using a connecting link on each eyebolt.
Repeat on the other side with the other chain.

Thank you for purchasing from Wildridge.

© 2017
©2017



